th2 18 9A /B = 60°, AB = 16cm, BC = A
12cm, AE = 9cm ¢ o, DF 9] Zol&? (4,
A D,E,F & HH)

® 4v3ecm @ 5cm ® 5v2cm
@7cm ® 8+v2cm

B ~

BF = BDo|22 ABFD X AArz+&o|t},
o3 1A




2.  ©he 93} o] AABC 9] Y Yol M=
AR PQE 12 W, APBQ 2 589 HdolE
Fstojzt (&, D, E, F, G = HHolt})

o
(@]
=

>
> HE 12 cm

B \
QG = QD, PG = PF |22 aPBQ 2| £¥9] Z°|= BD+BF
oF gt

BD =x 2} 5}¥

(11-x)+8-x)=7

x=06

.. BD+BF =6+ 6 =12 (cm)




1 2
30° < A < 90° & of, (sinA+ 5) - /(sin30° —sinA)2 9] &
ol ?

1
@ 2sinA @ 2 ® isinA

@1 ® 0
B ~

1
sin A + 5 >0,sin30°—sind <0 °]|2&

N2
<sinA 4 5) — 4/(sin30° —sin A)?

1
=gsinA + 3 + sin 30° — sin A




4.

ola

cos(2x —30°) =
0°<x<90°)

©O° @30° ® 45° @ 60°
B

® 90°

cos(2x - 30°) = \/75 = cos30° = cos(—30°)

2x-30°=30°, 2x-30°=-30°
Sx=30°0°




oS AHZHH| 9] EE B 17 5in 49° 4 tan 30° — cos 48° 9] #H-& T5tod 2t

Zte | ARRl(sin) | ZARl(cos) | EHHIE (tan)
30° 0.6293 0.7771 0.8098
40° 0.6428 0.7660 0.8391
41° 0.6561 0.7547 0.8693
4 0.6691 0.7431 0.9004

[ 2
> HEH: 0.8954

sin49° = cos (90° — 49 °) = cos 41°,
cos 48° = sin (90° — 48°) = sin 42°
(Z4]) = 0.7547 + 0.8098 — 0.6691 = 0.8954




k2 293 o] vix] 52| do]7b1 9l
AFEQ A OC = 0.59 € ©f, CD ¢ 4

olg FpH?

D
11/
.
0) C
=i Afel FALR! EtHE
53° 0.80 0.60 1.33
54° 0.81 0.59 1.38
55° 0.82 0.57 1,43
56° 0.83 0.56 1.48
D 0.57 @ 1.38 ® 0.59 @ 0.82 @0.81
oC 0C —
cosx®=— = — ,0C =059 o|B&2
OD 1
x°=54°
sinb4° = C:D = C—D =0.81 0|22
OD 1




7. A% A4 Qs 5 AF A B Aele] ALE 77 $1ste] kg
T3} Zol Z3Fsheint. o o, AB o Pol Tatolet,

BH = 180 X sin 60°

:180><‘/7§

=90V3
CH = 180 X cos 60°
1
=1 z
80><2
=90

- AB = (90\/5 + 502




A A & 9 £ AR A, B Aolo] A2E 757 ete] ohe
%9} Zo] Z3Fsteick. o ), AB ¢ PolS Fotu?

D 4011 @ 40V13 ® 4015
@ 40V17 @40\/1_9

BH = 200 X sin 60°

:200><‘/7§

=100V3
CH = 200 X cos 60°
1
=200 % =
0 2
=100

- AB = (100«/5 + 202




